Division par Puissances de Dix (G)

Trouvez chaque quotient.

74+ 10 = 2 =10 =

3,871 +1000 = 8,618 ~ 1000 =
1,457 + 100 = 1,306 +~ 1 000 =
4,86 -1 000 = 9,1 +10=

4,25 + 100 = 5,874 + 1000 =
5,842 + 100 = 1+1000=
4,31 +-1000 = 8,8+ 10 =

8,5 +100= 3,39 +-1000 =
9,992 =~ 1000 = 9,1079 =~ 10 =
3,26 - 10 = 3,9+10=
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Division par Puissances de Dix (G) Solutions

Trouvez chaque quotient.

7,4+10=0,74

3,871 +1000=0,003871

1,457 <100 =0,01457

4,86 +~1000=0,00486

4,25+ 100 =0,0425

5,842 - 100 =0,05842

4,31 +1000=0,00431

8,5+ 100 = 0,085

9,992 = 1000 =0,009992

3,26 +10=10,326

2+10=0,2

8,618 =~ 1000=0,008618

1,306 =1 000 =0,001306

9,1+-10=091

5,874 +-1000=0,005874

1+1000=0,001

8,8 +10=0,88

3,39 +-1000=0,00339

9,1079 +~10=0,91079

3,9-+10=0,39
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